H & 0l & AHS B Ml A

0238 20ilaF LekalH A4
SA AL
B geR
ol SHASAE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rar-=inl; 50,430,853 42,136,864 8,293,989
= 952,000
== 9,882,253
Al 39,596,600
ANgez 22,896,000 16,478,000 6,418,000
= 810,000
Al 22,086,000
SHANHAIE 5,822,000 3,868,000 1,954,000
HEagt 700,000 200,000 500,000
401 AlZHIZ S OHYI 700,000 200,000 500,000
01 A28l 695,590 198,560 497,030
OHE-2E T2 SEHZA
700,000,000 %99.37% 695,590
03 Al 20HHI 4,410 1,440 2,970
HE-2Y T2 SIITA
700,000, 000&+0.63% 4,410
PAQE2 1,600,000 1,200,000 400,000
401 A& HIX R0 1,600,000 1,200,000 400,000
01 AlZH| 1,594,240 1,195,680 398,560
SH-QF T2 SHLETA
1,600,000, 000 *99.64% 1,594,240
03 Al 20HHI 5,760 4,320 1,440
SH-QF C2 ELITAL
1,600,000, 0002 +0.36% 5,760
gELoI2t 3,000,000 1,000,000 2,000,000
401 Al HIZ 2018 3,000,000 1,000,000 2,000,000
01 Al&H| 2,989,200 996,400 1,992,800
O=I)H&I| E2 SXESA
3,000,000,000& *99.64% 2,989,200
03 AlESTHYI 10,800 3,600 7,200
OS2I &2 SEEHSA
3,000,000, 000&+0.36% 10,800
INE=EONEE ) 522,000 1,030,000 A508,000
401 Al HIZL 201 522,000 1,030,000 508,000
01 Al&H| 522,000 1,026,850 A\504,850
OA+2 213 sHZ A 122,000
Uaits o2 ZHIAI 15,000
=Al HEDS =82 & =2 SAt 21,000
=& S2AIOF OHIIE ¢ 1% HHISAt 56,000
=EH &oiel A= HEAS 30,000
Oz Fouat 400,000
- AHOREH 70,000
=T 734 &7 FRHEAE 20,000
-HE 10656 (SHAI~NIS) THEE At 50,000




SA AL
B geR
ol SHASAE (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
thsH 20,000
-AS0s MUZ Ul SAt 20,000
OleqH 10,000
-2J|0tS Dt X SA 10,000
2EH 50,000
-ALEDIS MR OtAE THEE SA 50,000
Lgs 120,000
-2 BR0HZ I HHIS A 120,000
Stus 20,000
-E2ZAA DI NEgA A 20,000
cS= 110,000
-XEgE 21846 (2XS) =2 4X 30,000
-2=2 0|JJ2/0HE 2 &t 1% Bty
T SA 60,000
-E48sl =2 2T | 20,000
sHEEZ 7,500,000 4,690,000 2,810,000
geold 650,000 100,000 560,000
401 AIEHIX R0 650,000 100,000 560,000
01 A28l 645,905 99,280 546,625
OHed SHEZZ HEISA
650,000,000 *99.37% 645,905
03 Al 20HHI 4,09 720 3,375
OHeld sHEZR SXHEIA
650,000, 0002 *0.63% 4,095
LA 1,450,000 50,000 1,400,000
401 Al HIZ 2018 1,450,000 50,000 1,400,000
01 Al&H| 1,440,865 49,640 1,391,225
OglHe sHEZZ SHRHIA
1,450,000, 0002 %99.37% 1,440,865
03 AlZ = THHI 9,135 360 8,775
OLHd SHEEZZ SHEISA
1,450,000, 000& %0.63% 9,135
tiE& 1,600,000 800,000 800,000
401 Al HIZL 01| 1,600,000 800,000 800,000
01 Al&H| 1,594,240 794,960 799,280
OtfEd sHELZ HEISA
1,600,000,000& *99.64% 1,594,240
03 AIZ S THYI 5,760 5,040 720
Otiegd SHEEZZ SHEISA
1,600,000,000& *0.36% 5,760
a5 3,800,000 800,000 3,000,000
401 Al HIZL S 0HYI 3,800,000 800,000 3,000,000
01 Al&HI 3,786,320 794,960 2,991,360




SA AL
M (YE2
29 SHEES (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OASH =0lELe SEEZA
3,800,000,000& *99.64% 3,786,320
03 Al 2Tl 13,680 5,040 8,640
OAEH SOEER HETA
3,800,000, 000& *0.36% 13,680
SH=H 1,700,000 1,050,000 650,000
Olg OIS gz 3l 900,000 100,000 800,000
401 AlEHIZL SO 900,000 100,000 800,000
01 Al&HI 894,330 99,280 795,050
OO0t 0|0t Y= JHISA
900,000,000 *99.37% 894,330
03 A2 2 0HYI 5,670 720 4,950
OO0l 01502 Y2 FHITAI
900,000, 0002 *0.63% 5,670
o &= Y2 3l 700,000 700,000
401 Al HIZ R 0HbI 700,000 700,000
01 Al&HI 695,590 695,590
O=d =0t MY HISA
700,000, 0002 *99. 37% 695,590
03 Al 2CHYI 4,410 0 4,410
O=d& =0t dY= JHISA
700,000,000 *0.63% 4,410
Ol MS0tE &gz Ehl 100,000 100,000
401 Al HIZ S OHbI 100,000 100,000
01 AlZ2H| 99,100 99,100
O01# AMS0ts Y2 FHISA
100,000,000 *99. 1% 99,100
03 Al 20HHI 900 0 900
OO0 AS0ts MU= ZHISA
100,000, 0002 *0. 9% 900
FEZ dEE 2,400,000 100,000 2,300,000
= 350,000
Al 2,050,000
s 2K A= 900,000 50,000 850,000
401 AlZHIZ SO 900,000 50,000 850,000
01 A28l 891,900 49,550 842,350
Oss 22X A2 dEMESA
900,000,000 *99. 1% 891,900
03 Al< = THHI 8,100 450 7,650
O&s 22X T2 dEMHESA
900,000, 000& *0. 9% 8,100
et 248~ A== 300,000 300,000
401 AIZHIX 20 300,000 300,000
01 A28l 297,840 297,840




S AL}
Hu: NYEE

ol FEEE JENE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Olhet 2a~32 FIFER SENFTA
300,000,000 *99. 28% 297,840
03 Al =2 0HHI 2,160 0 2,160
Ot 29-22 ABER HSHLTA
300,000,000 *0.72% 2,160
AR X R4E RIEEZ 500,000 0 500,000
401 AIEHIZ R 0HYI 500,000 0 500,000
01 Al&HI 496,400 0 496,400
OAHH X248 A =2 NS SAL
500,000,000 *99.28% 496,400
03 Al 2 HHI 3,600 0 3,600
OAHN X248 KIS E2 SIS AL
500,000,000&*0.72% 3,600
=M ZZ A2 (HEAY) 700,000 0 700,000
== 350,000
Al 360,000
401 AIEHIZ R HYI 700,000 0 700,000
< 350,000
Al 360,000
01 Al&H| 695,590 0 695,590
O 38 ASFEZ FDME At
700,000,000 *99.37% 695,590
= 350,000
Al 345,590
03 AlESTHYI 4,410 0 4,410
OFd =23 A2 2E At
700,000, 000& *0.63% 4,410
HEEZ |2l 5,474,000 6,770,000 A1,296,000
= 460,000
Al 5,014,000
W (HE) Rzl 1,300,000 1,930,000 £A630,000
401 AlEHIZ 2018 1,300,000 1,930,000 630,000
01 Al&H| 1,291,540 1,921,432 A629,892
OANEY ng ndH HEHIAHERAUR)
1,000,000, 0002 %99.37% 993,700
OANSE g E-2LSA
300,000,000 *99.28% 297,840
03 Al 20HHI 8,460 8,568 A108
OASEY ng nH HEZSAH(ERAUR)
1,000,000, 000&*0.63% 6,300
OAISE ug 22 EA
300,000, 0002 *0.72% 2,160
wE A HE HIELSAM 1,300,000 700,000 600,000
401 AIEHIZ SR OHYI 1,300,000 700,000 600,000
01 Al&HI 1,291,360 697,480 593,880




A A4t
B qgeR
Chel: HEEZ |zl EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oug UHWASLSAHEXIS)
100,000,000 *99. 10% 99,100
Ouz HERZASAHZAW)
200,000,000 *99. 28% 198,560
OHE WRIZLSAH(LREE)
1,000,000,000& *99.37% 993,700
03 Al CHYI 8,640 2,520 6,120
Oug UHWASLSAHEXISW)
100,000, 000& *0.90% 900
Oug UWRELSAHZEA W)
200,000,000 *0.72% 1,440
OHE WRIZLSAH(EREE)
1,000,000,000& *0.63% 6,300
A2 o1& OfS 450,000 450,000
401 AlEHIZ 200 450,000 450,000
01 Al&Hl 446,760 446,760
Otted o1& IHE S AL
450,000,000 9. 28% 446,760
03 A& 2 CHYI 3,240 0 3,240
Odtg 2 o1& A S AL
450,000,000&*0.72% 3,240
W dsiHe 1,000,000 1,000,000
401 AIEHIZL 200 1,000,000 1,000,000
01 Al&Hl 993,700 993,700
OYs SHEHE gy 8sIEAY
1,000,000, 0002 *99.37% 993,700
03 AlE 2 CHYI 6,300 0 6,300
OYs SHEE ey 8sIeAY
1,000,000,000& *0.63% 6,300
HE2L| AMEE2 ANFA(BEX) 200,000 0 200,000
= 48,000
Al 152,000
401 AIEHIZL20HHI 200,000 0 200,000
& 48,000
Al 152,000
01 Al&Hl 200,000 0 200,000
Oogaae Ad2 Y oHEEA(E9YI) 200,000
& 48,000
Al 152,000
MU XA (HEAIS) 600,000 0 600,000
= 300,000
Al 300,000
401 Al HIZL S 0HY| 600,000 0 600,000
= 300,000
Al 300,000




SA AL
M (YE2
Chel: HEEZ |zl EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 536,220 0 536,220
O3HWXZ EXISAHSLAARI 21 10HA) 596,220
= 300,000
Al 296,220
03 AIESTHYI 3,780 0 3,780
O3TWIZ EXISAHSALA ] 2 10H2) 3,780
Eth SEMNE SS70M XNIMS(EX)(HEALY) 120,000 0 120,000
[ 60,000
Al 60,000
401 Al HIZL 201 120,000 0 120,000
= 60,000
Al 60,000
01 Al&H| 120,000 0 120,000
Ogd & 229Xz =284 £
SA 120,000
= 60,000
Al 60,000
WEAMD 2 R AL (EX)(HEAY) 104,000 0 104,000
[ 52,000
Al 52,000
401 Al HIZL S 0HYI 104,000 0 104,000
S 52,000
Al 52,000
01 Al&H| 104,000 0 104,000
OuSAD X2 R HLAE 104,000
= 52,000
Al 52,000
= =0l dYZ FH 400,000 400,000
401 AlZHIZ SO 400,000 400,000
01 A28l 397,120 397,120
O=& ot=0t= L2 JHISA
400,000,000 %99.28% 397,120
03 Al 20HHI 2,880 0 2,880
OZ& TOIE MYZ HHIZA
400,000,000& *0.72% 2,880
22 6,108,934 1,831,282 4,277,652
& 7,720
Al 6,101,214
ZsX2el 5,758,934 981,282 4,777,652
= 7,720
Al 5,751,214
Aol CH 265,679 346,679 81,000
201 er2&| 115,800 114,000 1,800




SA: AT
M E2ae|
&el: 2RIt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 115,800 114,000 1,800
OBEEL Mt Aits
6,900,000 ~4CH 30 & 82,800
O1EEZ N4t gtz
5,500,000& =20 =30 2 33,000
206 M=l 149,879 149,879
01 MHZHI 149,879 149,879
OEZHEE Satzs 7
200,000 *200(t) 40,000
OZHEE 2= 74
150,000 *300(t) 45,000
OZHEE 20U +E
300& *15,0000HK 4,500
OSY NEU® SFUHHE)
1,630 +700L+ 19 EH S 21,679
Oz H&E 2 +e
6,0002*1,400m* 8,400
ON&I NR4d PU(EHHIEE)
250,000 = 18CH 4,500
ON&D| DRYL(XHERHE)
250,000 = 10CH 2,500
ON4 #Z)|8 77 7Y
1,360 »250L+501 & 1,700
ON&Il JeX(SHS2)
800,000& »27Ch 21,600
C2AIE 2 4,485,535 626,883 3,858,652
201 el 183,794 183,182 612
01 At22t2lt] 38,014 38,014 0
OYer+BHI(2LTL-T2 2= 44
2) 526,000 * 122 X 6,312
O/t AEHEA BHEE =2
526,000 x22& K| 11,572
Oget=ZH] 8,580
CAIRES el 300,000& 12042 3,600
SAP| =Xl 200,0003 * 12043 2,400
SAEA 2
23,0002 x5 A 1200 2 1,380
2287 7 100,000 * 1204 & 1,200
ou=s 7 (243) 250,000 3 750
Oetdst F(283) 100,000 3 300
O1ls P (=223 12, Ald2e|:3)
300,000 %15 4,500
Oerdst Re(Czaeld12, Aldate|3)
100,000& %15 1,500
O=Sgt(&2, HE, H&=e)
8,0003 152 26 3,000




SN ALY
M 2o
&el: 2RIt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSAZ2IH =2 222U FA B
150,000+ 10 1,500
2 23294| 145,780 145,168 612
082822 ¢ MAl 75,000,000 75,000
O 222ARA 2013 £42
120,0002¢ * 12JH & 1,440
OXESXNH (SFH) 45,800
OXtg+elt(ZHLA2E) 10,000
OMZEI ¥ M am)| X 22l
100,000 % 14CH 23] 2,800
OxzEEE2 A 700,000 *9CH 6,300
OYSIEYE MIIHEEY a2
260,000« 1204 3,120
OFd 82 ALQUE XI|oHX22| HEY
et 1100002 % 1204 1,320
203 AR EZIH| 3,000 3,000
03 A=A AR =ZAIY] 3,000 3,000
OAHLHHAD AIZX 3,000
206 2| 77,227 62,227 15,000
01 JH2HI 77,227 62,227 15,000
OC2AMES2 THH(2FHE 25kg)
27,0002/ *900% 24,300
OXNEHNEZ 242 TFHRH(SSCON)
24,0002 470 11,280
OSZAMESE KHH(OIAZE 25g)
24,0002 180 4,320
OZ2AMELE K (0IA2)
90,000 x70E 6,300
OE22UE4E XH(AIHE)
75002 *200% 1,500
OE2ALELE IH(2EE™)
134,00094 *28H}H I E 3,752
OL=23828+78 MM (=s3T)
5,300%*1,600m" 8,480
OEZES2=E7E A (HIOAR)
8,500 <270 2,295
OLHIARE 42 ¢ 15,000
301 LEHEX 3 5,514 5,514
14 et A2 5,514 5,514
OLSEEA BOA BAS(AZE)
91,9002 x 1074 A 6% 5,514
401 AlEHI L 201 3,458,000 164,460 3,293,540
01 A& 3,433,425 164,460 3,268,965
OALZH| X2 (S2EYI)
800,000 100! 80,000
OdEEzZ WEH 500,000,0002*99. 28% 496,400
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2A: A4
M. S|
&l S22 X2 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZndle Helxd
200,000,000 *99. 28% 198,560
OL2RXZeIE4(AIH BEER)
500,000,000 *99. 28% 496,400
O5S SUAIEZ THEE SAt
330,000,000 *99.28% 327,624
O2XH Sz MEE ZA
330,000,000 *99. 28% 327,624
Oz &2 THEZ(8HA, 1=3,746) 655,510
S(?)ERDSHAEDE o E2 WEHZ2
At 46,800,000%98.92% 46,29
SSuXE T2 HEESA
16,000, 000%98.92% 15,828
AHOH CHAlZ =2 THEES AL
207,500,000%99.28% 206,006
&= D22 T2 YEEBA
77,200,000%99. 10% 76,506
- HE2Z HWEESAL 176,800,000%99.28% 175,528
QA QF =2 THEE Z2AH
67,900,000%99. 10% 67,289
SRR 2 T2 MEIE SA
39, 100,000& *38.92% 38,678
2N B2 S22 HEH SAH
29,700,000%98.92% 29,380
O3 o1& HHI(5H4, L=1,010) 502,927
NHAEE 2 OIE HH|ZSAH
41,200,000& *98.92% 40,756
2L 2 2T HEISA
180,000, 000& *99. 28% 178,704
TEAE ¢ T HUBM
178,000,000 x99, 28% 176,719
=28 2% HHISA
46,200,000& *98.92% 45,702
SRR o olT HHIZA
61,600,000 %99. 1% 61,046
ON=2XE J| 100,000,000& *99. 1% 99,100
OLE&HEl =2 HHIZ2Al
80,000,000 *99. 1% 79,280
O2sMASZ ti+=2 FHIAIY 170,000
03 Al 0HYI 24,575 24,575
OYdaET=z MEH 3,600
OZ1nde Helzd 1,440
O 2R 2B (A BEER) 3,600
O3 SUHAEEZ THEE SAt 2,376
O2XH Sz MEE A 2,376
O E FH| 900
OLAAHL Bi+=2Z HBISA 720




S AL
M E2ae|
tel: S22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oz &2 MEZ (8N4, L=3,746) 5,490
(PSR OSHAEDE &€ &2 HEEHZ
At 505
SSUXNZE &2 HEESA 172
“AHOH CHal2l &2 THEZE SA 1,494
3 =22 &2 HEESA 694
-HEZ MEE SA 1,272
23 o T2 HEZ SA 611
HEYHE & T2 HEE SAM 422
2F X 22 &2 HEHE A 320
OZU o1& Hul(5MH4, =1,010) 4,073
A" ¢ OE HHISA 444
Baa ¢ el HHISA 1,296
- SEANE @ A FHISA 1,281
-HE2EE T FHISA 498
CHEEE o o FHISA 554
405 AtatsE = 758,000 208,500 549,500
01 L ESFISHI 758,000 208,500 549,500
SHEM=I| FSuM 7Y
15,000, 0002+ 1CH 15,000
OHEAX 2 380,000,000 »1CH 380,000
oA |1E20H 7Y 110,000,000 *1CH 110,000
O==J| g 90,000,000 *1CH 90,000
O5.58 E= 7Y 127,000,000 *1CH 127,000
O02MIZ=I| & 10,000, 0002 = 1CH 10,000
O6wHIZ=I| & 12,000,000 »1CH 12,000
OXE AL Y
14,000, 0002 1CH 14,000
WSE A 7,720 7,720 0
== 7,720
301 EtE N = 7,720 7,720 0
= 7,720
14 JIEt2 8= 7,720 7,720 0
OLSEXTA H0IXt Ea3(AEE) 7,720
= 7,720
AMEFX 2 500,000 500,000
401 AIEHIZ SR OHYI 500,000 500,000
01 Al&HI 496,400 496,400
OSENIA T KRA2ASIAIY
500,000,000 *99.28% 496,400
03 A2 CHYI 3,600 0 3,600
OSHXNIAE SRl
500,000,000&*0.72% 3,600
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S AL
M E2ae|
&el: 2RIt EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sHEEZZ |AZclA 500,000 500,000
401 Al HIZL 201 500,000 500,000
01 Al&HI 496,400 496,400
OsHEEZZ =RA2clAr
500,000,000 *99. 28% 496,400
03 AIESTHYI 3,600 0 3,600
Os0HEEZ RXIZCIA
500,000, 000& %0.72% 3,600
cRPaee 360,000 850,000 A500,000
a2 50,000 50,000 0
305 Hia =S 50,000 50,000 0
01 that=S 50,000 50,000 0
ORE0IS3 A8AA 2&, tia=s 50,000
D=EX=Z2e 300,000 800,000 A500,000
401 AlEHIZ S 0HBI 300,000 800,000 500,000
01 AlZH| 300,000 800,000 500,000
O0IXIZS8X (AR HAEZ )24
300,000,000 *14] 300,000
otd HH 21,379,159 23,789,602 2,410,443
= 952,000
< 9,064,533
Al 11,362,626
stezel 8,604,4% 6,277,602 2,326,8%
= 952,000
=S 950,000
Al 6,702,495
ot =Xl2el 5,361,935 2,653,005 2,708,930
201 et 3| 7,000 7,000 0
01 At22t2l] 7,000 7,000 0
Octa R X2 == gt =235 7Y 2,000
Odtd +=SHAE HHISIHEH/ZAH) 5,000
206 M=l 9,005 9,005
01 MZH| 9,005 9,005
OJIdM &bl 223 9,005
IS NEH SFU(EA/ZFA)
1,630 +500L+7H & 5,705
COIZ=D| 2l 1A(EA/ZH)
550,000& 62 3,300
401 AlEHIZ 2018 5,345,930 2,637,000 2,708,930
01 Al&H| 5,334,950 2,630,070 2,704,880
Ootd FXIZeIAF (310002, L=384kmZ 15km)
600,000,000 *99.37% 596,220
Otta St =& A (310704, L=384knS 20km)
500,000,000 *99.28% 496,400
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SA AL
Z: 51E Zy|
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- EHNH G| AGHE |A2CIAY 23,000
- AE ZEASHE |RAIZCIAIE 38,000
Ol#H3H SHOIZSA0HE A2l 16,000
=N [ KRAZCIAIG 13,000
OA+2 21 sHZ AL 25,000
- HIIE FX2el A 10,000
A=A MY FR2EA 15,000
ORd == JISE 2+ - JUISA 420,000
Ogzd Hd=7A 1,230,680
03 Al 20HHI 10,980 6,930 4,050
Odtd =XI22lAr
600,000,000& *0.63% 3,780
Odtd Ste=& A
500,000,000&%0.72% 3,600
OBte &2 U +2TIAI
500,000, 000&+0.72% 3,600
Std |A2Ae(2X) 420,000 175,000 245,000
= 210,000
Al 210,000
401 A& HIX R0 420,000 175,000 245,000
= 210,000
Al 210,000
01 A28l 420,000 175,000 245,000
OALOIE HIFE2el AIAE AFAY 420,000
= 210,000
Al 210,000
Il = R2tel 180,560 130,597 49,963
101 @124H| 44,573 46,609 22,036
M ORINZZ2NSE S 44,573 46,609 A2,036
Ot MY |2 AlLHHE(2E) 23,095
OZAd dHsd o= 7Y 9,222
OZXd dHzsd =52l 2FY 12,296
201 et 3| 30,387 30,388 A1
2 S22l 30,387 30,388 AT
O3LE0I4e) dllgtEae| 5
171, 7003 1200 B #2042 4,121
OsSgE0IEE) #8IIe3 19,966
O E3Zd ZEAME dJIeS
105,000 #1290 300 A 3,780
OZXd MHSE 2SS HIIR3
70,0002+ 120 2«30 2= 2,520
206 MH=HI 1,600 1,600
01 MHZH| 1,600 1,600
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SA AL
Z: 51E Zy|
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZid dHisd =524 223 7Y
800,000& 22 1,600
401 AIZHIX R0 104,000 52,000 52,000
01 AlZH| 104,000 52,000 52,000
O3XH ot & =32 ZESAH AL
SHAABTAIB
104,000,000 * 14! 104,000
JI8HIF A2l (2X) 1,900,000 2,000,000 100,000
[ 950,000
Al 950,000
401 Al HIZL 201 1,900,000 2,000,000 100,000
= 950,000
Al 950,000
01 Al&H| 1,900,000 2,000,000 100,000
Oste MY FX 2= 1,900,000
= 950,000
Al 950,000
2ot |2 A (EX) 742,000 1,319,000 A577,000
= 742,000
201 er2&| 30,000 30,000 0
= 30,000
2 S52g4l 30,000 30,000 0
O=Jlotd |AEs =2 &) & S8 S 30,000
= 30,000
206 M=l 7,000 7,000 0
= 7,000
01 MZH| 7,000 7,000 0
O=JIotd |2+ MEE 28t 228 +
o 7,000
2 7,000
401 Al HIZ S 0HbI 705,000 1,282,000 A577,000
= 705,000
01 Al&HI 705,000 1,282,000 A577,000
O=Jlotd |FXNE+ A 705,000
= 705,000
OFX XHoH ol & 12,774,664 17,512,000 AN4,737,336
[ 8,114,533
Al 4,600,131
20t FHI(HEAY) 2,148,998 7,152,000 /5,003,002
401 Al HIZL 201 2,148,998 7,152,000 /5,003,002
01 Al&H| 2,141,263 7,126,253 A\4,984,990
OtelAotd FHIAE 1,084,083
Ott=20td FHIALE 1,057,180
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FA AL
I ot HH
cHel: St THoH o e (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
03 A& S CHYI 7,735 25,747 18,012
OugAotd HHIALE 3,916
Odbt=20otd HHIAHY 3,819
NS UG (S 2aH) EX(HE)(HEALY) 7,383,000 4,000,000 3,383,000
== 5,868,100
Al 1,514,900
401 AIEHIZ SR HYI 7,383,000 4,000,000 3,383,000
[ 5,868,100
Al 1,514,900
01 Al&HI 7,362,043 3,989,200 3,372,843
O2&d oldgHl & =32t ZHAY 7,362,043
= 5,868,100
Al 1,493,943
03 Al =2 0HHI 20,957 10,800 10,157
OZ&A ot gl & A5t TEAY 20,957
NS UM (HS2aH) EX(HE)(HEAY) 3,242,666 6,000,000 N2,757,334
S 2,246,433
Al 996,233
401 AIEHIZ R 0HYI 3,242,666 6,000,000 A2,757,334
= 2,246,433
Al 996,233
01 Al&H| 3,230,993 5,980,200 N2,749,207
O3 XNLotd A
1,242,666 ,000<99.64% 1,238,193
= 846,433
Al 391,760
Ogd Xotd HHIA
2,000,000, 000%99.64% 1,992,800
[ 1,400,000
Al 592,800
03 Al< = THHI 11,673 19,800 N8,127
O3 XNLotd A 4,473
Ogd Xotd HBISA
2,000,000, 000+0. 36% 7,200
A 2HAL(HED) 46,760 37,980 8,780
Jl23HI(A&) 46,760 37,980 8,780
Jl23HI(AH&) 46,760 37,980 8,780
201 Ler23| 17,900 9,900 8,000
01 At2teltl 17,900 9,900 8,000
OSgHI(HE H&22(LaHt®, =)
o2 8) 4,000
O2g+2(=222l8os F#aY)
70,000& %10 700
OAEL AR B2 5,200
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2A: A&
S HY2AAH(AED)
ol J12ddI(A41) (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OE222|AIR24A HHISitls HHI22Eu=R
] 800,000 =10 8,000
202 04dl 23,700 22,800 900
01 =LHOdH] 23,700 22,800 900
O=L40dd] 22,800
OA8dy MK AS HH(E2E+ 2l
&) 100,000 »9H 900
203 YRF=&Y| 5,160 5,280 2120
M PA2IHRFALI 5,160 5,280 2120
ORN2IYRFL| 5,160
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